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1 ] S A s N3CFF D 1-9 JA = JAH[7-8 1] R 90 3
2 Hh Ak s NSCEFRE D 1-11 JA =[9-11 4] 7RI 90 3
3 P SCAL H R R I N R ARy i D 1-9 JA =L JAH[7-8 1] R4 90 3
4 i E<FE B AR EE S s N fhoflaE A 10-17 Ji = A H[7-8 1] EEE 120 4
5 TR s NSCFF D 1-9 JA= J&Fi[7-8 ] #HG 90 3
6 W E AR s NSCERE D 10-17 Ji = A H[7-8 1] H 20 3
7 DO L5 b NI} D 1-9 JA = JEF[7-8 ] B L K 90 3
8 PUE P s 53k N3 RE D 10-17 Ji =\ JHT[7-8 7] T 90 3
9 Hh ] AU AR S ek = D 1-9 JA = JEF[7-8 ] g 90 3
10 it By S0 RF N D 1-9 JA =L JAT[7-8 1] fa -tk 90 3
11 CONBHED: S SRS N D 1-9 JA =L JAT[7-8 1] &R 120 4
12 “SUHBHPED: SR N D 10-17 JA =L JAT[7-8 1] &R 90 3
13 LS E2E S N D 10-17 F = JAT[7-8 1] ZF] 90 3
14 FESCLZ (CETF) N D 1-9 JA = JA[7-8 1] 2N 90 3
15 T iy NSCEEFR D 1-11 JA =[9-11 4] 2N 60 2
16 NTE S AP NN ey e D 10-17 JA= JEH[7-8 ] R 90 3
17 NTE S AP NN Ry N D 1-9 JA= JEH[7-8 ] R 90 3
18 NTE S AP NN ey e D 1-11 JEA =[9-11 7] R 90 3
19 2 L E5 2 AE T N D 1-11 JA =[9-11 4] XI5 90 3
20 [P &L R I N3 RE D 10-17 JA = FH[7-8 1] X1 B 90 3




21 HESCbZ (ETF) S N D 1-9 JA=. JH[7-8 ] XK1 90 3
22 HESCk (ETF) Si N F D 10-17 JA=. JH[7-8 ] XI5 90 3
23 INASE A N F D 1-9 JA=. JH[7-8 ] X4 90 3
24 AR NCEF D 1-9 JA=. JH[7-8 ] TG 90 3
25 M EIAR ARy Sk D 10-17 J =+ J1i[7-8 7] EFRE 90 3
26 2R 5 thoklaE D 1-11 Jil =[9-11 1] e ) 20 3
27 HABUR 512 ARy Sk A 1-9 JA = JA[7-8 1] T We e 120 4
28 KLY 5 EHARBUA e F A 10-17 JA = JAT[7-8 1] e 90 3
29 NN RN <31 NCER} D 1-11 A =[9-11 4] [ 90 3
30 HINC LY I RINITE <31 N RY D 1-9 JA=. JAT[7-8 1] B 90 3
31 UINCESY WINITE 31 N D 10-17 Ji = JT[7-8 7] Bt 120 4
32 TR 5 RIS N D 1-9 JA=. JH[7-8 ] PR 90 3
33 TR 5 RIS N D 10-17 JA=. JH[7-8 ] PR 90 3
34 HESCh . (FHRmEE) Sk NS} D 1-9 = J&1[7-8 1] R 120 4
35 FESC . (BHRIEY) S AR A 10-17 J=. HE[7-8 5] R 90 3
36 HARGH S E PR &R tHofl D 10-17 JA=. JH[7-8 ] S I\WARSS 120 4
37 FE R KR8 B D 1-9 JA = JAT[7-8 1] EA\WABS 90 3
38 e E=pEd B D 1-9 JA = JAT[7-8 1] fihE 90 3
39 A DisEA Ry N D 10-17 JA=. JAT[7-8 1] fihE 90 3
40 WA S P AR FR fhoxkla D 1-11 JA=[9-11 1] fhE 90 3
41 R (HEAEE) i N3 RE D 10-17 JA = FH[7-8 1] JEA 90 3
42 I IARYE T 8 2 2 T NE= A 1-9 JA = FH[7-8 1] JEZS 120 4
43 HEbZ (GBiE) St NCEF D 1-9 JA=. JH[7-8 ] SEEAN 90 3




44 HESCRZ (BIBY Sk N D 1-11 JA =[9-11 4] FH R 90 3
45 CHHEPEEY Sis N3C#F D 1-9 JA = JAH[7-8 1] 72 8% 90 3
46 EE RS N F D 1-9 JA = JAH[7-8 1] TR 90 3
47 EE RS NCEF D 1-11 A =[9-11 4] TR 90 3
48 SCEALEF R b E AR SR N D 1-9 JA= JEFi[7-8 ] kA 90 3
49 PR 5 T 52 NSCFF D 10-17 JA= JEFi[7-8 ] kA 90 3
50 AR R tha D 10-17 JA=. JAH[7-8 4] K A 120 4
51 AR T T Bl A 1-9 JA=. JH[7-8 ] KA 120 4
52 A TE A A Bl A 1-11 A =[9-11 4] KA 90 3
53 AT e JH A N D 1-9 JA = JEF[7-8 ] IS 90 3
54 7E AT P K B NSCFF D 10-17 JA =L JAT[7-8 1] EISH 90 3
55 G5 I S A A NSCFF D 10-17 JA =L JAT[7-8 1] 2 90 3
56 EH 53 NSCFF D 1-11 JE =[9-11 1] 2 90 3
57 PRI S Ak NSCEF D 1-9 JA =\ JA[7-8 1] R 90 3




